Physics 105

 Name: _________________________
Consider a particle having a position given by the function graphed below.
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Determine the average velocity for the following time periods.

A. 0 to 1.5 seconds

B. 0.25 to 1.25 seconds

C. 0.5 to 1 second

D. 0.7 to 0.8 seconds
E. 0.74 to 0.76 seconds

Determine an expression for the instantaneous velocity as a function of time.

Evaluate that expression at the time t=0.75 seconds.  How does it compare to the average velocity results found above?

Where is the (instantaneous) velocity zero?

Using your expression for the instantaneous velocity, determine the average acceleration for the following time periods.

A. 0 to 1.5 seconds

B. 0.25 to 1.25 seconds

C. 0.5 to 1 second

D. 0.7 to 0.8 seconds

E. 0.74 to 0.76 seconds

 Determine an expression for the instantaneous acceleration as a function of time.

Evaluate that expression at the time t=0.75 seconds.  How does it compare to the average acceleration results found above?

Where is the (instantaneous) acceleration zero?

